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(m e ice ela -) 1.5. When its pnce fallsby X 1 per
Th e elasticity of demand of a commodxty is ()
e @\}F unft l:tl: f]uantlty dZmanded rises by 3 units. If the quantity demanded before the price
change was 30 units, what was the price at this demand> Calculateﬂ e ]
& k 8 Quantity demanded of a commodity rises by 6 units when its price falls by ¥ 1 per unit.

¥ 20 per unit,
Its price elasticity of demand is (-) 1. If the price before the change was
cald’ulate quantlty demanded at this pnce [CBSE (AI) 2010] 4

l }{3 The quantlty demanded of a commodity falls by 5 units when its price rises by ¥ 1 per
unit. Its price elasticity of demand is (-) 1.5. Calculate the price before change if at this
price quantlty demanded was 60 units. [CBSE ¥) 2010] 4

Qif/ Price elastlmty of demand of a commodlty is - 0.5. Its quantity demanded falls by 5 units
when its price rises by ¥ 1 per unit. Calculate the quantity demanded if the price before
the change is ¥ 5 per unit. [CBSE (F) 201014

S”Pnce elasticity of demand of a commodity is (—) 0.75. When its price falls by ¥ 1 per unit
i

ts quantity demanded rises by 4 units. Calculate its quantity d d.
before the change was Y 12 per unit. T

| I ] mt. _[CBSE (F) 2010] 4
i Q. Z When price of a commodity falls by T 1 per umt, its quantity demanded rises by 3 units.

Its price elasticity of demand is (-) 2. Calculate its quantity demanded if the price before
the change was X 10 per unit. [CBSE (AI) 2010]4

Q. l 7 When the pnce of a commodity falls by ¥ 2 per unit, its quantity demanded increases by

10 units. Its price elasticity of demand is (-)1. Calculate its quantity demanded at the
price before change whlch was X 10 per unit.

[CBSE Delh1 201014
Q [ §A consumer buys 8 units of a good at a price of ¥ 7 per unit. When pnce rises to ? 8 per

unit, he buys 7 units. Calculate price elasticity of demand by comparing expenditure on
the good [CBSE (F) 2008] E o

At a given market price of a good a consumer buys 120 units. When price falls by 50 per ‘

Q
[ Z 7 cent he buys 150 units. Calculate price elasticity of demand. [CBSE (F) 2008] 3

Q. ﬁ' 0 A consumer buys a certain quantity of a good at a price of ¥ 10 per unit. When price falls i

Y to T 8 per unit, she buys 40 per cent more quantity. Calculate price elasticity of demand.

_[CBSE (F) 2008] 3
Q. i‘ Price elast1c1ty of demand is (—) 3. If the

price rises from T 10 per unit to ¥ 1
what is the percentage change in demand? 3 [lCBoSE (:II));):)I;]IE’

<. oz 9 Pnce elastlclty of demand of a good is (-) 1. Ata pnce the consumer buys 60 units of the
good. How many units will the consumer buy if the price falls by 10 per cent? 3

[CBSE (AD 20081
Q. ﬂ% When price of a good falls from %8 per unitto3 7 per unit, its deinand rises from 12 units

to 16 units. Compare expenditures on the good to determine whether demand is elastic
or inelastic. [CBSE Delhi 2008] 3

Q. 9@1 When price of a good falls from ¥ 10 perunitto?gperunit,itsdemandnsesﬁ-omQumtsto r
10 units. Compare expenditures on the good to find price elasticity of demand.

[CBSE Delhi 2008] 3
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